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     EXCEL CIVILS ACADEMY 
DAILY CURRENT AFFAIRS 

                                                          Date: 07-10-2021 

 

1. Panchmuli Lake, which was making news recently, is located in which state? 

a) Kerala                             b) Punjab                            c) Gujarat                               d) Haryana 

 

2. Saiga, which was seen in the news sometimes, is a rare type of which species? 

a) Antelope                          b) Whale                          c) Spider                                  d) Turtle 

 

3. In which year the name of National Institute of Sciences of India was changed to the Indian National 

Science Academy (INSA)? 

a) 1950                           b) 1960                             c) 1970                                        d) 1980 

 

4. In which year the British Government signed the Hague Opium Convention? 

a) 1909                              b) 1912                              c) 1913                                      d) 1915 

 

5. Identify the correct statement regarding Noble Prize for Physics: 

1) This is the first time climate scientists have been awarded the Physics Nobel, 2021. 

2) The prize was given for the work done on complex physical systems. 

Which of the statements given above is/are correct? 

a) 1 only                              b) 2 only                          c) Both 1 and 2                       d) neither 1 nor 2 

 

6. Consider the following statements 

1) A sovereign credit rating is an independent assessment of the creditworthiness of a country or 

sovereign entity. 

2) Rating agency Moody’s Investors Service has upgraded India’s sovereign rating outlook to ‘stable’ 

from ‘negative’, citing an decrease of risks from COVID-19 

Which of the above statements is/are correct? 

 a)  Only 1                           b) Only 2                           c) Both 1 and 2                 d) Neither 1 nor 2 

 

7. Consider the following statements: 

1) The Tenth Schedule of the Indian Constitution sets the provisions for disqualification of elected 

members on the grounds of defection. 

2) The members disqualified under the anti defection law are debarred from contesting elections for 

the next five years. 
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3) The defection by at least one-third of the elected members of a political party is considered a 

merger. 

Which of the statements given above is/are not correct? 

a) 1 only                             b) 2 and 3 only                          c) 1 and 3 only                       d) 1, 2 and 3 

 

8. Consider the following statements: 

1) The Aadhaar-enabled Payment System (AePS) allows online interoperable financial transactions at 

Point of Sale (PoS). 

2) AePS is developed by the National Payments Corporation of India (NPCI). 

Which of the statements given above is/are correct? 

a) 1 only                             b) 2 only                            c) Both 1 and 2                       d) Neither 1 nor 2 

 

9. Consider the following statements regarding ‘Arsenic’: 

1) It is an odourless and tasteless metalloid. 

2) Early childhood exposure to Arsenic can lead to negative impacts on cognitive development.  

3) Skin lesions are caused by long-term exposure to arsenic. 

 Which of the statements given above is/are correct?  

a) 1 and 2 only                    b) 2 only                       c) 2 and 3 only                            d) 1, 2 and 3 

 

10. With reference to G20, consider the following statements:  

1) It is an informal group of 19 countries and the European Union.  

2) It is headquartered in Belgium.  

3) The members represent about two-thirds of the world’s population.  

Which of the statements given above is/are correct?  

a) 1 and 3 only                     b) 2 and 3 only                             c) 1 only                         d) 1, 2 and 3 


